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Find the length of the chord of the ellipse 

+ =1 whose midpoint is 

 
Question: The points on the line in the first quadrant 4x+5y=20 which trisect the section of 
the line in the first quadrant, what is the tan of the angle between them? 
Options: 
(a) 25/41 
(b) 3/5 
(c) 4/5 
(d) 30/41 
Answer: (d) 

Question: S={1, 2,.....10} 
M are all the subsets of S 
X={A, B ; A intersection B= null set and A, B belongs to X} 
Options: 
(a) X is symmetric 
(b) X is transitive and symmetric 
(c) X is reflexive 
(d) X is symmetric and reflexive 
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0  

then 2a- 3b - 4c is equal to 
Options: 
(a) 10
(b) 0
(c) 12
(d) 20 

AP1 : 4, 9, 14 …. Upto 25 terms 
AP : 3, 6, 9 …. Upto 37 terms 
No. of common terms 
Answer: 7 

42 

Circle passing through (0,0), ( 0,1), (1,0) and( 2k, 3k). Find the value of k 

These least positive integral value of ‘a’ such that the vectors ai -2j +2k and ai+ 
2aj -2k are having acute angle between them 



S1 and S2 both are true. 

If f(x) = x3 +x2f’(1) +xf” (2)+ f”’(3), then find f’(10). 
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